JIMCT 6.19. YpaBHeHus1 ¢ MOAY/IAMH
Pemre ypaBuenue (1-5):

1. 2x-11|=1.

I3x — 5| —3|=2.

|[|x + 1] + 2| — 3| = 6.
2x—1|+|x+1|=3.

|5x —2007| = |7x — 2013|.

ANl

JIMCT 6.19. YpaBHeHuUs1 ¢ MORYIAMH
Pemure ypaBHenue (1-5):

1. Px-11=1.

3% — 5] - 3| = 2.

e+ 1]+ 2| - 3| =6.
2x— 1|+ x+1]=3.
15x — 2007] = [7x — 2013|.

A

JIUCT 6.19. YpaBHeHUS ¢ MOIYJIAMU
Pemure ypaBuenue (1-5):

1. [x—11]=1.

3% — 5| - 3| =2.

i+ 1] +2| 3| =6.

2x — 1]+ x+ 1| =3.

15x —2007| = |7x — 2013].

A

JIUCT 6.19. YpaBHeHUS ¢ MOAYJIAMU
Pemute ypaBuenue (1-5):

1. Px—11=1.

3% — 5 - 3| =2.

i+ 1] +2| - 3| = 6.

2x — 1]+ x + 1] = 3.

|5x —2007| = |7x — 2013].

A

JIUCT 6.19. YpaBHeHuUs1 ¢ MOAYJIAMH
Pemure ypaBuenue (1-5):

1. [2x-11]=1.

I3x — 5| - 3| =2.

lIlx+ 1] +2|-3|=6.
2x — 1]+ |x + 1| =3.

|5x —2007| =|7x —2013|.

A

JIUCT 6.19. YpaBHeHuUs1 ¢ MOAYJIAMH
Pemre ypaBaenue (1-5):

1. [2x-11]=1.

I3x — 5| - 3| =2.

lllx+ 1|+ 2| -3]=6.
2x — 1]+ |x + 1| =3.

|5x —2007| =|7x —2013|.

A

JIUCT 6.19. YpaBHeHust ¢ MOAY/IAMH
Pemure ypaBuenue (1-5):

1. Px-11=1.

2. |Bx-=5]-3|=2.

3. [+ 1]+2|-3]|=6.

4. 2x-1]+]x+1]=3.

5. |5x—2007|=|7x—2013].

JIMCT 6.19. YpaBHeHusi ¢ MOLY/IAMH
Pemmure ypaBuenue (1-5):

. Px-11=1.
I13x — 5| - 3| =2.

e+ 1]+ 2] - 3| = 6.
2x— 1|+ x+1]=3.
|5x — 2007 = [7x — 2013|.

AN

JIUCT 6.19. YpaBHeHUS ¢ MOAYJIAMU
Pemure ypaBHenue (1-5):

1. x—11]=1.
I13x — 5| — 3] =2.

e+ 1]+2| -3 =6.
2x— 1|+ +1]=3.

15x — 2007| = |7x — 2013].
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JIUCT 6.19. YpaBHeHUS ¢ MOTYJIAMU
Pemure ypaBuenue (1-5):

1. Px—11=1.
I13x — 5| - 3] =2.

e+ 1]+2| =3 =6.
2x— 1|+ x+1]=3.

|5x — 2007| = |7x — 2013].

A

JIUCT 6.19. YpaBHeHuUs1 ¢ MOAYJIAMH
Pemure ypaBuenue (1-5):

1. [2x-11]=1.

|3x — 5| - 3| =2.

llIx + 1|+ 2| —3|=6.
2x —1|+x+1]=3.

|5x —2007| = |[7x — 2013|.

A

JIUCT 6.19. YpaBHeHusi ¢ MOAYJIAMH
Pemure ypaBuenue (1-5):

1. ]2x-11=1

2. |Bx-5]-3]=2.
3. |Ix+1]+2]-3]=6.
4. |2x—1|+|x+1]=3.

4

|5x —2007| = [7x — 2013|.





